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A Hsus g4 XA
S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
wEHFH M 9,256,358 7,413,183 1,843,175
= 150,000
< 150,000
Al 8,956,358
sws =4 XN& 8,550,838 6,938,412 1,612,426
= 150,000
< 150,000
Al 8,250,838
LS Mbla e (RSMSSESIA) 6,641,575 5,163,511 1,478,064
= 150,000
< 150,000
Al 6,341,575
NsEREMAHTS) *5 828,531 943,171 A 114,640
201 et 725,631 688,971 36,660
01 At 22l 17,200 6,800 10,400
O1 gt=&Hl 10,200
POSHEME 2YU(EAH L ANREETY
) 100,000& * 122 1,200
PREFBHE BALTE N 2
9,000,000& =14l 9,000
O3 2d=¢ 7,000
PRELSEIL MO HALY
100, 000& 721103l 7,000
02 2324l 708,431 682,171 26,260
O1 3322 € HA 374,580
DEEIIERSB 374,580
OuWsSEEHH R 28,500,000& «12& 342,000
OBIS(XF2OHLY SH2D])
15,0003 181CH+12& 32,580
O3 A& ZHl s Xl 333,851
PuUSEENEH 22 ¥ |A2c
290,000,000 =14 290,000
PUSZEEMEH MM RAES
189,449,000& *8/100 15,156
DHAFBAAY S/WRIE
141,727,000& x15/100 21,260
> ITSEHOIX |RAZ==
49,562,800% x15/100 7,435
202 o4dl 2,400 2,400 0
01 = LH o4 Hi 2,400 2,400 0
OunsgesEl & wsSAlAE 4 bl
200,000& »12& 2,400
401 A& HIZ 201 Y| 100,500 251,800 A 151,300
01 A& HI 100,000 250,000 A 150,000
OITS N8 SXNE=+ 100,000, 000& 14! 100,000
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A Hsus g4 XA
S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 AIE 2 0HHI 500 1,800 1,300
OAZ =l 500,000 » 14 500
DEUMALE X & FHl 2,235,015 2,241,706 26,691
201 LBt 374,126 191,939 182,187
02 2324l 374,126 191,939 182,187
O1 22322 2 HA 175,910
DEIRSB 20,0003 73000 2« 128 175,200
PASAHEE =S 500,000& = 1CH 500
> Xt ZHA 50,0002 = 1CH 50
DEFNERES 70,000 »1CH »23] 140
DASHEAZ 20,000& x13] 20
O3 A€ &Hl |t 194,800
DuUSNMAE 228 175,000,000 * 14! 175,000
PUSS - HES HFFY
55,000 *360H 2 19,800
O4 Xt - det] 3,416
> Xt &= X dl 3,416,000 = 1CH 3,416
206 M= Hl 180,000 125,000 55,000
01 =8l 180,000 125,000 55,000
OFIIANEEZ(LEDNSSIN R 2 148)
600, 000& x15& 104 90,000
OUSHMAIEES 22 M (LIS EHALX 2 4
E) 1,000,000& x5& x 184 90,000
301 LAz 2,000 2,000 0
1MIIEELES 2,000 2,000 0
OUSANEE &1 JAX A Zaz
10,000& 200! 2,000
401 AIEHI L 201 1,650,889 1,922,767 A271,878
01 A& Bl 1,648,000 1,913,000 A 265,000
QUSUHFAILEE X L FHI(SIHAHY)
500,000 *3000H 2~ 150,000
OusStlss e & B
70,000,000 =104 & 700,000
OuUSASSHONI 24 (HIAHY)
300,000 *3504 2 105,000
OQuUSASS B4 (SHIHHY)
360,000 *3504 2 126,000
QuUSdsWUXZE MAML (XA, WEH, 23
=) 75,000,000 *5J4 2 375,000
OAZZHE SEASI| Hl
850,000 70K & 59,500
OkL= WsSAUSHAHI WA
5,500, 000& *15J4 & 82,500
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50,000,000 = 14! 50,000
03 AlE 201 Y| 2,889 9,767 ,878
OAI& 20| 2,889,000 14! 2,889
405 XHoHFE S HI 28,000 0 28,000
01 XA 2B F S| 28,000 0 28,000
QUENFAEE 218242 IS (WAHM)
28,000,000 = 10H 28,000
ol g1 4] 199,227 322,154 N 122,927
801 ollgldl 199,227 322,154 N 122,927
1 8ol g gl 199,227 322,154 N 122,927
Oolgl gl 199,227, 0003 x 14! 199,227
HelolBEs3Y SIES 170,612 151,080 19,532
401 Al HI L £ 0HHI 170,612 151,080 19,532
01 Al& H| 170,000 150,000 20,000
OglolEs3Y9 |KNEx
6,000,000 20 A 120,000
OglolEs34Y9 CCTV KAIE%
3,125,000 1604 2~ 50,000
03 AIEE2HH]| 612 1,080 N 468
OAl&E S0l 612,000 =14l 612
S8R E AX 1,803, 150 1,505,400 297,750
401 AlEHIZ 201 Y| 1,803,150 1,505,400 297,750
01 Al&H| 1,800,000 1,500,000 300,000
Ozldx=2 &X 180,000,000 *10JH A 1,800,000
03 Al 20| 3,150 5,400 A2,250
OAlIE 20t 3,150,000 =14l 3,150
SCET XHS AR 401,440 0 401,440
401 Al HI L 2 0HHI 401,440 0 401,440
01 Al& H| 400,000 0 400,000
Qg8 XHEs AX 10,000,000 4004 &~ 400,000
03 AlE 201 | 1,440 0 1,440
OAI& 20| 1,440,000 14! 1,440
SoEctekx] #SlA AX Y FHH| 501,800 0 501,800
401 AlEHIZL £ 0HY| 501,800 0 501,800
01 Al& H| 500,000 0 500,000
SoEG gx HBA 8% L =
125,000 =4, 000m 500,000
03 Al 20| 1,800 0 1,800
OAlE S0l 1,800, 000& = 14! 1,800
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AHAZBAIAH(BIS) = 501,800 0 501,800
= 150,000
< 150,000
Al 201,800
401 Al HI R 201 I 501,800 0 501,800
= 150,000
< 150,000
Al 201,800
01 A& 8l 500,000 0 500,000
ORF-2H ZAHARZAAY 2EAY
500,000,000 =14 500,000
= 150,000
S 150,000
Al 200,000
03 AlE 2 THHI 1,800 0 1,800
OA &= HHI 1,800,000& =14l 1,800
WSOHM oAl A (NSAMASLHIA) 158,960 151,800 7,160
Helol nsetds =& 56,000 56,000 0
307 glz2+ol & 56,000 56,000 0
05 RIZt2E = 56,000 56,000 0
O0elolns3d RIERE 56,000,000 *14 56,000
DESHEAY 29 92,960 85,800 7,160
201 et 39,000 39,000 0
01 At 22l 39,000 39,000 0
O1 get=2Hl 37,000
DUSAMD 017 88 35,000,000 =14l 35,000
PUSUHEMITR2E S22 HHA
2,000,000& » 14l 2,000
O3 2d=¢ 2,000
PusStdaoARE 2E+H
100,000& » 102! x23] 2,000
202 04l 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
OusSotEAIY & e =& 044l
500,000& x12& 6,000
301 LA Z 7,960 5,800 2,160
09 &AM HIZB &S 7,960 5,800 2,160
Ousetd 35 FALZ4 1,000,000 14 1,000
ORI EE 24
10,0003 #2901 x2 2 123 6,960
307 glz2tol & 40,000 35,000 5,000
02 It M AMHEE 40,000 35,000 5,000
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OusSADE0I] & WSeHA &sdl X
25,000,000& =14 25,000
ONgol nsSMD tigas gsdl X2
15,000, 000& 14 15,000
Oglolnssd El 10,000 10,000 0
201 £B-2d| 10,000 10,000 0
02 =24l 10,000 10,000 0
O3 Al ZHlI s Xl 10,000
DO WNSSE AME SR+
10,000, 000& * 14! 10,000
=X el (RSAIS S H) 1,750,303 1,623,101 127,202
=3X =aX EXE ZH| 80,360 50,360 30,000
401 Al HIZ 201 I 80,360 50,360 30,000
01 A& HI 80,000 50,000 30,000
OF3x sN7a & AUXS BEXE £
80,000,000& =14l 80,000
03 A& 2 THHI 360 360 0
OA& =Rl 360,000 14! 360
WE =xt& 2 EX23 N 20,000 30,000 A 10,000
402 RIZEX201 A 20,000 30,000 A 10,000
01 U2 EALE X (XA R) 20,000 30,000 A 10,000
OUWE =X I At X &
2,000,000 102t 7 20,000
=8 =X o= 1,125,354 867,348 258,006
201 L4l 738,738 542,048 196,690
01 At 2t 2l 65,645 48,535 17,110
O1 et==2Hl 54,125
DEYFELN HE2H AMS 6,125
O XM 60& 100, 0000H 6,000
OdQolsE XA 250& 50004 125
DEHFIN HEHARE (RS, F2 S)
500,000 » 14! 500
DEYHFEI HE EE2 12,000,000 x14! 12,000
DAL AHA EEZS 10,000,000 x14] 10,000
PERYEMHIA ABA L HE2E
14,100, 000& 14 14,100
DAUNSA U ROICEASA 2]
100, 000& 201 2+ 12& 2,400
>EAD 2 ZRIH EH, SEY(AXAN &)
300,000& » 157l »22 9,000
O4 1=l 2,880
PEHFEXN HERE 2,880
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Ha: O 2
=X 2l (LSAHSELEH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ACIXt 3,147,000 *2CH 6,294
202 044l 24,000 24,000 0
01 = LH 4 1l 24,000 24,000 0
OSY=ZX &= (Wl 2,000,000& x12& 24,000
207 & O | 5,000 3,000 2,000
01 2284 5,000 3,000 2,000
OBEEANY UASUBE 4BAI} 24 8
s 5,000,000& x 14! 5,000
301 L2 A3 1,500 1,500 0
09 SAEHIE &S 1,500 1,500 0
OSY=E3X &= XA 10,000& » 15091 1,500
305 HHal=2 s 10,000 10,000 0
01 Hia=S 10,000 10,000 0
OUIAIXS X &&= HH & 400,000 =254 10,000
401 AIEHI L 20 311,116 251,800 59,316
01 A& HI 310,000 250,000 60,000
OSYHFIX Rthx CCTV X (1F4)
25,000,000 =109 £ 250,000
OSYHFTIX RTx CCTV &sHA(1E4])
4,000,000 * 1504 2 60,000
03 A& 2 THHI 1,116 1,800 A 684
OAIZ 2 HHI 1,116,000& * 14 1,116
405 XHobF S HI 35,000 35,000 0
01 AL ESFH S 35,000 35,000 0
OSYFEX s (H)
35,000,000 =1CH 35,000
SE=IE =4 311,116 382,736 AT1,620
401 AIEHI L 2CHYI 311,116 382,736 AT1,620
01 A& Bl 310,000 380,000 A70,000
SEXN SGFUE =4 A
230,000,000& =14 230,000
OZBI=XE MEKXE= 80,000,000& 14! 80,000
03 Al S THHI 1,116 2,736 21,620
OAlZ =R HHI 1,116,000& 14 1,116
JEHE M= 213,473 292,657 AT9,184
201 et 195,913 224,528 A28,615
01 At 22l 17,965 41,160 A 23,195
O1 et=ZHl 17,965
DSz BEHHE S=EF L HME2XA
603 *33,0000H 1,980




SN DEHEDY
A Hsus g4 XA
©el: =FA 2el(LSMSEESH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DHSE P A= g2 AZREH (S HHI
L IXNE ZHEXR) 1,000, 000& »24! 2,000
PEIMSLR =8 6,985
oHxEHEONESZ 2,640,000 » 14! 2,640
OXMXLFZIMAEIA 55@ 79,000 4,345
DASI2SE BHES HYHE 222
80& *4,00021x12& 3,840
DASX2E WEHE MEIIE =2 2,160
(O3 F=2s =)
6,000,000 104 2~ *3/100+12& 2,160
DS BEHE M HASRSI] =
= 1,000& 1,000 1,000
02 =224l 177,948 183,368 25,420
O1 3322 ¥ HA 166,341
DREQZ(UENE DM BEE) 162,960
OSJII(AEME L RS2 XF)
1,820& %4,00000 x12& 87,360
O YBHLAEME L RS2 XF)
350& 18,0000 x12& 75,600
DUASXHA ¥ BE2 S 3,225
OXNSXHM(EE25E)
250,000& = 1CH*13] *30/100 225
OEE= 500,000& *13] 500
O =S A= 100, 000& * 13l 100
OFUE(POAAEE 200,000& 12 2,400
PIILEXN I MEZ 156
OSHtANER 13,0002 128 156
O3 A& & Hl s Xt 4,740
DHSEHIAX NHHEMALAE SAB 4,740
OXNEEMNEH 285,000 128 3,420
OSEIXAAEH 110,000& = 12& 1,320
O4 X2t el 6,867
DAUERXE(E25E) 6,867,000 = 1CH 6,867
202 O4dl 10,560 10,560 0
01 = LH 4 1 10,560 10,560 0
OXsxzd Mg Uz =04l
880,000& »12& 10,560
305 & 2 S 2,000 2,000 0
01 Hia=s 2,000 2,000 0
OZXXEE HSE ==2|H] 100,000& »20CH 2,000
405 RHoHE S HI 5,000 0 5,000
01 et EFSFHSHI 5,000 0 5,000
OgXIxte: ZHI(ADEPC) 7
5,000,000% = 1CH 5,000
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A - ER(EN) - AR - B of & o4 SSa HIDZ2
HY2IIH (RSHF D) 705,520 474,771 230,749
H2AH(RSHEN) (LSALSLESIAH) 614,290 395,935 218,355
H2HH(nSHEY) 614,290 395,935 218,355
101 Q124 H] 614,290 395,935 218,355
03 RINAA=22RE > 614,290 395,935 218,355
OB I SAEA 290,492
>olza 1,600,000 821« 128 153,600
>ad=s 153,600,000 *4/12 51,200
PHAEZZSE 12,0663 *82! *300Al 2 28,959
PRELIFSE 92,3073 *x821x12& 8,862
DAX=E 45,8663 821122 4,404
D> NG A 130,000 »821 x12& 12,480
D usS 2 x| 120,000& =821 x12& 11,520
>E&0UI 10,0003 «821x 102 x 12 9,600
PSE P Rl 246,664,000 *4/100 9,867
OHdFExE 217,082
>olEa 1,600,000& 621« 12 115,200
D= 115,200,000% *4/12 38,400
pHEZ2SE 11,5743 621 x300 Al 2+ 20,834
PRL2RSE 92,3073 %621 x122 6,647
DXt 45,8663 x6Q1 x 12 3,303
D> EHZ A 130,000& »62! x12& 9,360
DS 2 Al 120,000& 621 x 12 8,640
>EF0HI 10,000 x61 x 102 x 12 7,200
PSPl Pl 187,449,000 *4/100 7,498
O=0¢z 8= 423,616,000& *4.5/100 19,063
OAHZEE= 423,616,000& *3.06/100 12,963
OFVRLEE= 12,963,000& %6.55/100 850
OLNEEEEZ 423,616,000 *1.5/100 6,355
OtMEE = 423,616,000& *1.0/100 4,237
O1ul=Hl 3,840
> ot= 100,000 =8¢! 800
>ES= 140,000& »8¢! 1,120
PEZFS 70,0003 »82! 560
> etat 50,0003 *82! +23] 800
> egt=s 70,0003 »82! 560
O&Ad=s RE= 50,000,000& » 14| 50,000
O=gtl 8,000& »14Q1 7 »12& 9,408
|2 ZH(REALSEEA) 91,230 78,836 12,394
2zt (uss#E ) 91,230 78,836 12,394
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el

IME=go )
HY2LZH (nSHE L)
Jl2Z(nSASEEEAH)

SN HH-S(BN) - MBAY - B il HlnE2
201 Le-2d| 48,910 47,976 934
01 At 22l 40,200 47,976 NT,776

O1 get==2Hl 30,600
DEM2ESSH(SASI 2 108)
1,800,000& »12& 21,600
DEAI Y ZEH EWH.EEY
300, 000& x 1501 23] 9,000
O5 =&l 9,600
DOt 522 R 8,000 2501 x43| x 128 9,600
02 23224l 8,710 0 8,710
O1 23232 % AA 8,710
DRELZ 8,710
0 &7l 1,930& *4,0000H 7,720
O Bt 330& *3,0000H 990
202 O4dl 19,200 19,200 0
01 = LH 4 1l 19,200 19,200 0
OJlgge=d ol 1,600,000& »12& 19,200
203 YR =2t 5,460 4,740 720
04 FN2IEHSFAH 5,460 4,740 720
ORAN2EIRFEHI 455,000& 123 5,460
405 THebH S| 17,660 6,920 10,740
01 AL =2 S FH S| 17,660 6,920 10,740
O=AI (2 H) 7,000,000 = 1CH 7,000
OPC(2XHI) 1,000, 000& 504 5,000
OPC(2LIH) 300, 000& »3CH 900
OdoIdZelH 700,000& = 1CH 700
O2 Xt 180,000& *2H 360
Oant 1,500, 000 *24 3,000
Ood&n 700,000& = 1CH 700
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CHEzns 54 N

C HERE MUIA HA(RSAHY
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Al

ton

At

g Al

SN BA(SA) - MRAY - BES il HImEET
s ,068,980 2,838,237 1,230,743
= 740,258
< 233,480
Al ,095,242
sus =54 N&E ,926,999 2,716,670 1,210,329
= 740,258
< 233,480
Al ,953,261
LS Mbla e (RSMSSESIA) , 754,972 2,668,601 1,086,371
= 674,258
< 213,680
Al ,867,034
sns MHIA e X 267,120 63,200 203,920
201 et 187,000 35,000 152,000
01 At 22l 167,000 30,000 137,000
O1 Let==EHl 140,000
PHALHE OHE =2 100,000, 0002 * 14! 100,000
DHALCSS JHEO HE AAE H
40,000,000 * 14 40,000
O3 2d=¢ 27,000
PUHSLNSHASIRARE &3S =
100,000& » 1521 x183] 27,000
02 =224l 20,000 5,000 15,000
O3 AIE€ ZHI =Xt 20,000
D&EAd SN AN+
20,000,000& » 14! 20,000
202 044l 15,120 7,200 7,920
01 = LH o4 1l 15,120 7,200 7,920
OUENE MHUIAMA AtE HZ 0l
1,260,000& »12& 15,120
207 O] 65,000 21,000 44,000
01 289 65,000 21,000 44,000
OANUHA BIHAA L 2SS} 24 89
65,000,000 =14l 65,000
ALY MHIA S K& 271,500 14,300 257,200
= 110,580
Al 160,920
201 24| 1,000 1,100 A 100
01 At 2t 2l 1,000 1,100 A 100
O1 Let==EH| 1,000
PusS=2st2d 3 SZH MH
1,000,000 =14l 1,000
202 044l 6,480 7,200 AT20
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CHel: HZ WS MHlA HE(LNSAIESESH) (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 = LH 4 bl 6,480 7,200 AT20
OAZEEXE Q510 & MHIAME AtE BE
04 540,000& »12& 6,480
301 gt d= 6,000 6,000 0
09 HALAHIEAS 6,000 6,000 0
OnEIsLd 2 H&E4A AKX AS
6,000,000 » 14! 6,000
402 2I2H X201 M 258,020 0 258,020
< 110,580
Al 147,440
02 QI E2AL EZ (OIS ) 258,020 0 258,020
QEAl SAJSHI(SHYA) DM XA
258,020,000 =14 258,020
< 110,580
Al 147,440
EHAl 2 X 24 At 5,000 5,000 0
201 Let24d] 5,000 5,000 0
01 At 22/l 5,000 5,000 0
O3 2d=¢ 5,000
> EAIRRIFI RS BALY
100,000& x521x103] 5,000
BAl SHEBHLIAIAY IFAMS (I EXH) 72,573 97,000 N24,427
308 XXM S0 A 72,573 97,000 N24,427
10 37/ 2S0HUHeEHEEALS I 72,573 97,000 AN24,427
OSAl SHEBEAANLALY 2E2H
72,573,000 x 14! 72,573
STZ NUE 2 E 979,473 802,480 176,993
201 £B-2dH| 192,000 150,480 41,520
02 3323l 192,000 150,480 41,520
O3 A& ZHl |Xibl 192,000
D2y 33 20,0003 *800H A+ 12 192,000
401 AIEBIZ 28I 787,473 652,000 135,473
01 A& Hl 785,000 648,000 137,000
OHAsZ2E A4 & WX 672,000
DIOl2d (greetol & o UHAxRl)
10,000,000 *55H 2~ 550,000
PHASZE BEXE & JI&X
1,000,000 *500H 2~ 50,000
PHASZE FXNE* 6,000,000& «12& 72,000
OAlUHA B3] 0128 113,000
DRIKE 300,000 » 15004 2 45,000
>2HE 120,000 15074 2~ 18,000
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S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CENSZE HE 2 s
50,000,000& =14l 50,000
03 Al 2 THHI 2,473 4,000 N1,627
OAE =R HHI 2,473,000& 14! 2,473
EE SAIMY X2 654,398 649,921 4,477
= 53,100
Al 601,298
307 glz2+ol & 654,398 649,921 4,477
< 53,100
Al 601,298
02 HAFAANFEE 388,512 388,715 A 203
OEHEEHAI(FIEZMI EXIESANKA 388,512
>selz K& 167,513,000& 14 167,513
PotExr2 K& 220,999,000 =14 220,999
= 53,100
Al 167,899
03 BIAHMNHE2IHIEL 265,886 261,206 4,680
OBHEEA SdH 2948 XA
265,886,000& » 14! 265,886
2 SgnsSst 2 X3 (XHA) 22,150 1,036,700 A 1,014,550
201 Let24dH] 22,150 20,300 1,850
02 232gHl 22,150 20,300 1,850
O1 83322 ¥ HA 22,150
D> XS XAl (S8
100,000& *20CH *13] *30/100 1,800
DASKH BEZ(SE) 1,000,000& «20CH 20,000
DASK SAMNL 23 (S8
50,000 +7CH =12 350
SHus4sH TUBE(Z1) 200,000 0 200,000
= 100,000
< 50,000
Al 50,000
405 TtHabF S| 200,000 0 200,000
= 100,000
< 50,000
Al 50,000
01 AL EFH S 200,000 0 200,000
OSEUESFH (WS AXNSEA)
40,000,000 *5CH 200,000
= 100,000
< 50,000
Al 50,000
2 Sgusst 22N (BX) 1,282,758 0 1,282,758
= 574,258
Al 708,500




2N HESLSH
M swE 4 N2

S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 1,282,758 0 1,282,758
= 574,258
Al 708,500
05 RIZHRI & 3 1,282,758 0 1,282,758
OSENELH(DEAN2UA) 2
1,282,758,000& 14 1,282,758
= 574,258
Al 708,500
WSOtM oAl AS(WSMASEIIA) 172,027 48,069 123,958
= 66,000
= 19,800
Al 86,227
gafgt g A=es 24,027 32,069 28,042
201 Let24d] 15,387 20,309 A4,922
01 At 22/l 10,184 9,606 578
O1 LEt==ZH| 5,000
DAZEEXNE NEHS & wsSotd 2=
NIIES 3,000,000 » 14l 3,000
DERHYX H SHASKH LHEl EE=S
NIIES 2,000,000& » 14l 2,000
O4 1l =l 480
DAMAZENSIH HERR 480
odt= 100, 000& 12! 100
os= 140,000& 10! 140
o gst=s 70,000& = 1@l 70
O&FEF= 70,000& x1¢l 70
O Etst 50,000 x121%23] 100
O5 =&l 4,704
DEHARBANSKH ANEHE S22 S 4
8,000 +7C1+x7 128 4,704
02 =24l 5,203 10,703 A5,500
O1 83322 ¥ HA 1,210
DSk BANLARLES(SE)
50,000& »1CH »23 100
> Xts ZHA 400,000 =1CH*13]*90/100 360
DASKH BEHZ (S8 700,000 = 1CH 700
DASK A =2 (SF) 50,000 = 1CH 50
O4 xtg. o8| 3,993
DASEXE XSS 2l
3,993,000 «1CH 3,993
202 Oddl 8,640 11,760 A 3,120
01 = LHA YI 8,640 11,760 A 3,120
Ognelet Xt& A== 0]
720,000& 123 8,640




Hsns
Hzuns 54 X
WS oA LS (LSMEEE

X

ton

A - ER(EN) - AR - B of & o4 SSa HIDZ2
NEATANY 2 16,000 16,000 0
301 €EtE A= 6,000 6,000 0
09 HALEHIE& = 6,000 6,000 0
O2+3AL X2 ME WS
200,000& =30¢! 6,000
307 212t0l & 10,000 10,000 0
04 DIZHSHALALH 2 & 10,000 10,000 0
OuSetEoAl NF ZoUs XA
10,000,000& * 14| 10,000
NROILADE BH PX(2D) 132,000 0 132,000
= 66,000
£ 19,800
Al 46,200
307 212t0l & 132,000 0 132,000
= 66,000
S 19,800
Al 46,200
02 B AANHE X 132,000 0 132,000
OMgE XtE IH201E DX &
132,000,000 =14 132,000
= 66,000
< 19,800
Al 46,200
Y2 IH (WSS 141,981 121,567 20,414
AU (NSAMSSESA) 85,935 77,031 8,904
el 2l 85,935 77,031 8,904
101 @128l 85,935 77,031 8,904
03 RIAHLZ 22 85,935 77,031 8,904
OSESAA 85,935
>lles 1,600,000& 221« 12 38,400
DaA= 38,400,000& »4/12& 12,800
PHEZZ2SE 12,0663 22! *300Al 2+ 7,240
] 92,3073 *x2QIx12& 2,216
DAX=E 45,8663 221 x102 918
DA A 130,000& »22! x 122 3,120
DusS 2 x| 120,000& »221 x 123 2,880
>EF 0l 10,000 21«10 128 2,400
PPSEP) Euls] 68,298,000& *4/100 2,732
DAES 7,115
O=UHSREE= 70,698,000 *4.5/100 3,182
OAdL=EEE 70,698,000 *3.06/100 2,164
OHJIIQLEERZ 2,163,000 *6.55/100 142




AN HHEsnsSH
M HY2IZH (WSS
el QlHE2HH (RSAISSLESIAH) (&)
SN BA(SA) - MRAY - BES il HImEET
(ORNE=J8= = 70,698,000 *1.5/100 1,061
OHMMEE= 70,698,000 *0.8/100 566
> Il = dl 960
Oot= 100, 000& 20! 200
os= 140,000 20! 280
OEF= 70,000& %201 140
O Etst 50,0003 »2Q1 x23] 200
o gsts 70,000& %201 140
DEIXNHASRYES 5,154,000 » 14! 5,154
=2 ZU(RSALSEE ) 56,046 44,536 11,510
JlE&l 56,046 44,536 11,510
201 £B-2d | 35,396 31,236 4,160
01 At 22l 27,368 25,884 1,484
O1 get==&Hl 21,992
PEMN2I+EH 12,992,000& 14 12,992
DEAMI L ZEH ABS
600, 000& *5CH 33 9,000
O5 =&l 5,376
DOof2t. 52 22X 8,000 *1401%43] 128 5,376
02 =24l 8,028 5,352 2,676
O1 83322 ¥ HA 8,028
>SoH 1,930& 300 128 6,948
PESSH 300& »300= * 128 1,080
202 O4dl 11,000 9,000 2,000
01 = LH 4 1 11,000 9,000 2,000
OJlege=g8utl 9,000,000& » 14 9,000
Ollsuns R4 220l
2,000,000& » 14 2,000
203 YR =&l 3,600 3,000 600
04 NI 3,600 3,000 600
ORAN2EYE=AHI 300,000& 122 3,600
405 Xt&tE SHI 6,050 1,300 4,750
01 XA = ZFH SHI 6,050 1,300 4,750
OPC(2H!) 1,000, 000& »4CH 4,000
OPC(2LIH) 300,000 »6LH 1,800
Ox=2I 250,000 »1CH 250




